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1. The general solution of (x+1)y'—=(2x+3)y=0 is (A) y=(c +c,x)e*  (B)
y=clx+1’e™ (C) y=cx+xInx (D) y=c(l+x)e” (E) y=-1+cx>

2. The general solution of y +4y'+4y=0 is (A) Y=C C0S(2X)+C,sin(2x)  (B)

—2X X

y =(c, +cyX)e © y=(:lezx+cze_2 (D) y=c¢x+cxinx (E) y=¢x+¢,lnx

3. Among the following differential equations, which one is exact (A) x*dy +4y’dx =0
(B) cos(x)dy +sin(y)dx=0 (C) sin(x)dx+cos(x)dy=0 (D)x’e’y'+ye* =0 (E)
sin(3y)dx + 3xcos(3y)dy =0

4, Which of the following is the Laplace transform of function t> (A)i2 (B)i2 (C)i3
S S S

D2 EF
S S

ou ou

5. Which one is the solution of the partial differential equationa——a—zo? (A)
X Oy
u(x, y) = Ce ¥ (B) u(x,y)=Ce"*" (C) u(x,y)=Ce" (D) u(x,y)=Ce""? (E)
u(x, y) = CeX®¥>  (Here C and k are constants)
2s5+12

6. The inverse Laplace transform of the given function fl[ j= ?(A) 2 (B)

s +16

2e7°* +12 (C) 2e**sindx (D)2e **cos3x (E) 2cos4x+3sindx

. . ] ) ) . 1 —n/2<x<nm/2
7. Aperiod function f(x) with period T =27 is defined as: f(X)={ .
0 otherwise

This function can be represented by Fourier series f(X)==%+ Z(Gn cos(nx) +b, sin(nx))
n=1

1 1 2 1
a=? (A) 0 B)~ ()5 O B3
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Giventhat A= 3 5 _1| Therankof A equals (A)0O (B)1 (C)2 (D)3 (E)4
4 7 -2

Let v=(1,0,1) and v=(1,1,0). Which of the following vectors is not in Span{u,v}? (A)
(1-1,2 (B) (431 (C) (111 (D) (1,2,-1) (E) None of these.

,then det(A)=? (A)O (B)-80 (C)80 (D)-40 (E)12

o O o N
O 00 w O
o O N -
U O O O

The set of vectors {(1,2,1),(0,1,1),(0,1,x)} is linear dependent. The variable x=? (A)

~2 (B) -1 (C)0 (D) 1 (E) 2

SRR (SR )
Solve the differential equation y"+y'-6y =0, y(0)=10,y'(0)=0

Let L:R*> > R® be defined by

Lix)=| x;—x,

3x; +2Xx,

Find a matrix A suchthat L(x)=Ax foreachxin R?

S

Find all the eigenvalues and the corresponding eigenvectors.

Let
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